
Homework 22 Final Answers

sectionlo.4.o.ru
- sie

iron
A-- I ( I- sine)

'
do

= . . . =3
23 . Inside r=4sihf Outside r=2

'

÷÷÷:÷÷.
A- If us;no5- 65 do = . . . =Eyt⑦

%



Ty
=

,# ¥ - do)
Double

using
symmetry

27 .
Inside r =3cost

,
outside r= Hoose

\ 0=4/3

'

i'
"

÷÷÷÷¥ ..
'

f =
-I
3

Ty
Area-- tzf.gs/zwsot2-HtcosO-YdO---TD



org --2¥ - dot
9

Double

usjjohmdny
30

. Bounded Between r-- Hoos 't and r=t¥sq

"i¥¥÷:"
Lots of choices

÷t÷÷, HI
"
t- cosh'dof =



ok 2 ft f!g%Ctcoso5dt]
0%2 Ill- cosh'dof
•

•

•

BONUS : Do full Cartesian to Polar Curve sketching
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